BEAR POINT MOTOR TESTS
PUMP B
FEBRUARY 2010




TEMPLATE: .84 PLATE PF MAX
MOSQUITO DIKE STATION BEAR POINT MOTOR B

VOLTAGES

WoltagaA/L1

72388 72368 } 3 Dateblock
H ! Name  =%aoltage A/L1 Yoltage BAL2
E ' Date =2/8/2mn 2/8/2010
H | Tirne: =11:43:36 PM 11:43:37 PM
H ' ¥ Scale = 722.68V/Diw | 72368V Div
H : Y ALED% = 0.00 ooy
j X5cale = 8.34 msDiv 8.34 ms/Div
"""""""""""""" " KAl = 0.00 mg me
| X Size  =298(300) 292(300)
; Maimum = 348.33V Mza0v
Minimum = -345.11 34207 Y
Name =
Date  =2/8/2010
000> 000> Time = 114337 FM
Y Scale = 723.68V/Div
YALEDR = 0.00V
#Scale = 8.34msDiv
XAk = 0.00 ms
%Sie =298 (300)
g Maximum = 339.05V
H | Minimurm = -339.01%
H : Cursor Values
1. 1053ms
' ' K2 1478ms
H | dix 4.26 mz
72368 72369 B ' ! Y. 347.85Y
Y2 -dInY
0.00 ms 8.34 ms/Div dY: -BI6.96Y
Currerit 2701
a1s 8.8 Diatablock
Name  =Cumert /L1 [Current BALZ
Date  =2/8/2010 2/8/2010
Time  =114404PM  [11:44:04 PM
Y5cale = 754 AMDw [ 7o4 A/Dw
TALEDE = B4 A B4 A
HScale = B17msDiv|  B17 me/Div
Harlz = 0.00ms 0.00 ms
¥ Size  =232(300) 292 (300)
Masimurm = 47.5 A 636 A
Minimum = -49.4 A B23 A
Mame =
Date =2/8/2010
Edo  EBdo Tirne: =11:44:08 PM
YScale = 754 AMDiv
YALEDEZ = B4 A
KScale = B.17 me/Div
XA0% = 0.00ms
®Size  =292(300)
Maximum = 458 A
Minimum = -47.1 A
Cursor Values
' H H1: 1088 ms
H H K2 1495 m:
H H dx:  409ms
B0 50 - : : Y1 475 A
Y2480 A
0.00 mg 817 meDiv dY: 965 A

NEUTRAL: NONE



PHASE OVERLAYS:

*2463 v

59.97Hz 0:02:40 2 -2x

“2460u
%9.97H=z d 00300 W -2x

02708710 23:44:45 693V 60H=z 38 DELTA DEFAULT

02708710 23:45:05 693U 60H=z 38 DELTA DEFAULT

UVOLT AMP  CURSOR F. PERSIST HOLD

& Zoom v OH OFF RUH

UOLT AMP  CURSOR F. PERSIST HOLD
¥ 2

SR B LEN 2 z0om ISt Bane oFF | Run

i N NENE

“2448v

39.96H=z 0:03:24 X -2x

02708710 23:45:29 693V 60H=z 38 DELTA DEFAULT

UOLT AMP  CURSOR F. PERSIST HOLD

ABC &Z0OM i O OFF RUN

VECTOR:

“24b.3v |"2459u |"2449 v

UH fund 141.5
UB fund IdE.E
U[: fund 141.5

Hz 259.98
Bape c40
Bpcy 240
Bcan 240

02708710 23:46:07

UOLT AP
A B C

693U 60Hz 38 DELTA DEFAULT

Y ;scope -




HARMONICS:

Harmonics Harmonics
FETHD 3.0 %r ATHD 5.0%rfRkK 1 |
& 0:00:34 P = - & 00053 P -
‘F‘“]ﬂ ................................................ 4;“19 ................................................
[ . 5{'% ................................................ [ SR 5{]% ................................................
L I L T j | [ [ D |
THDDC 1 3 5 ¥ L] 1 13 15 17 THODC 1 3 5 7 9 1 13 15 17
0250810 23:47:11 693U G0Hz 38 DELTA DEFAULT 02108410 23:47:31 693U GOHz 38 DELTA DEFAULT
I-HARM. HOLD TABLE I-HARM. HOLD
ORY OFF RUH # OHY OFF RUH
Harmonics
ATHD 0.0%rfRK 1 |
& 0:01:26 B ==
4“ . I.nn .................................................
[ B l]'}E . - -

THODC 1 3 5 7 L]
0270810 23:48:03

ey

113 15 a7
693U G60Hz 38 DELTA DEFAULT
1-HARM. HOLD

OFF RUH



TRENDS:

Pouer &Eneray

FULL
A
kU
kVA
kUAR
PF
DPF
Arms i
AB
Urms 2463

02708710 23:48:57

®  0:00:13 P @ <
B C
92
140
i 106
0.66
34 iz
BC CA
2458 2443
693U 60Hz 3@ DELTA DEFAULT
ENERGY  TREND T

UNCORRECTED

“246.3 v |"2459 v |"P449 v |

U A fund I d I .E
u B fund I 4EE
U C fund I d I .5

Hz 29.98
Bppey 240
Gpcen 240
Gcopy 240

02708710 23:46:07

UOLT [AKE
A B C

VOLTAGES:

25125 25125 2515

693V 60H=z 38 DELTA DEFAULT

i HOLD
: I'-.___.-' SCOPE BUH

¥ R &/

A

Pouer &Eneray
FULL & 0:02:36 FY=-
A B C
kU 96
kUA 118
kVAR i bB
PF 0.8e
OPF
Arms 27 29 27
AB BC CA
Urms 2466 2462 2450
02/08/10 23:51:09 693U 60Hz 38 DELTA DEFAULT
ENERGY  TREND T

US3 SWITCHES AT AMPS

EERp]

“246.8v |"246.3v |"2450v

u A fund I d I .5
u B fund I 4EE
u C fund I d I .E

Hz 23.99
Bape 240
Ppcen 240
Bcoa 240

02708710 23:51:39

UOLT (AP
A B C

693U 60H=z 38 DELTA DEFAULT

i HOLD
: I'-.___.-' SCOPE RUH

Date
Time:

‘Y Scale = 11.08%/Div| 11.08%/Div
T aLE0E = 24571

Diatablock
Name =% RAms AL % Fims B/L2

=2/8/2m0 | 2/8/2010
=T1E619PM | 11:56:18 PM

24571

HScale =107 /Div (107 s/Div
HAr0% = 00:00:00 00:00:00
XSiee  =212(212) |212(212)

Masimurn = 692,99
Minirmum = 240.00%

E52.93V
240.00%

Mame =% Hms 013

Date

=2/8/2M0

24017 24017 24007 &

00:00:00

107 s/Div

Time: =11:56:18 PM
Y Scale = 11.08Y/Div
W ALENE = 24571V
KScale =107  2/Div
HAD%  =00:00:00
HSize  =212(212)
Maximum = 632,93
Minirmum = 240,00

Cursor Values
#1 0d 00:01:29 [2/8/2010 11:54:16 PM)
®2 0d 00:02:38 [2/8/2010 11:55:25 PM)
dx 0d 00:01:09
el 24617 24622 24622V
W2 24704 47T 24721V
dv 0.86 0.95 0.93%




CURRENT

& Rms &/

03 502 +

138 138

00:00:00 102 ¢/Div

WATTS:

1 Y Full Total
255 255 255 T

78 73 79 o«
00:00:00 107 s/Diw
VA WATTS:
W Full 801

340 340 34.0

1

()
()

-10.4

0.4

04«

00:00:00

109 s/Div

Diatablock

Name =& Rms AT |4 Fims B/LZ
Date  =2/8/2010 |2/8/2010
Time  =711:36:18 P |11:56:18 PM
‘¥ 5cale = 36.4A/Dw | 36.44/Dw
YALEDE = 3214 1
H¥Scale =108 &/Div |108 &/Div
HAr0% =00:00:00  |00:00:00
XSiee  =212(212) |212(212)
Masimurn = 34.7 A 72 A
Minimurm = 0.0A )
Mame =
Date =2/8/200
Time: =11:56:18 PFM
Y Scale = 36.4A/Div
YALEDEZ = 3214
% Scale =108 s/Div
HAD%  =00:00:00
HSize  =212(212)
Maximum = 3494
Minimum = 00&

Cursor Values
#1 0d 00:00:53 [2/8/2010 11:52:40 PM)
®2 0d 00:02:65 [2/8/2010 11:55:42 PM)
dx 0d 00:02:02
Y1: 338 340 3404
W2 280 282 2844

d¥: 57 A7 554

B B CEEErEEEE P ™)

Datablock

MName =% Full&/L1 |\ Ful B/LZ
Date  =2/8/2010 2/8/2010
Time  =11:56:18PM [11:56:18PM
Y 5cale = 335 kwi/Div| 335 Kw/Div
TALEDE = BB KW 88 kw
H¥Scale =107 oDiv (107 s/Div
HAr0% = 00:00:00 00:00:00
X Size  =212(212) 212(212)
Masimurn = 8.1 K/ 38k
Minimumn = 0.0 kW 0.0 kit
MName = W Full Total
Date =2/8/200 2r82mo
Tirne: =T11EE18PM [11:566:12 PM
¥ Scale = 335kW/Div| 335 kW/Div
WALEDE = BB KW 88 kW
XScale =107 ¢/Div  [107 s/Div
HAD%  =00:00:00 00:00:00
HSize  =212[212) 212(212)
Maximum = 0.0 ki 105 kw'
Minimum = 0.0 ki 0.0 ki

Cursor Values
#1 0d 00:00:63 [2/8/2010 11:52:40 PM)
®2 0d 00: 2 (27872010 11:65:25 PM)
dx 0d 00:01:45
Y1100 102 10.2kwW
¥2: 102 1056 105kwW
dv: 03 03 03kKW

Dratablock

MName  =WAFuWlA/LT  |WA FulB/LZ
Date =2/8/2mn 2/8/2010
Tirne: =11E6:18PM | 11:66:18 PM
¥ Scale = 44.4kVWADiv| 44.4 kVADv
¥ ALE0E = 11.8 kWA 118 kA
XS5cale =109 s/ 109 s/Div
AALO0%  =00:00:00 00:00:00
HSize =212(212) 212(212)
Maimum = 8.6 kYA BEkVA
Minimum = 0.0 kWA 0.0 ki
MName = s Full Total
Date  =2/8/2010 2/8/2010
Time  =11:56:18PM |11:5618 PM
WScale = 444 kWAMDiv| 444 kVADiy
¥ ALEDE = 11.8 kWA 11.8 ki
#Scale =109 &Div 109 sDiv
X AL0% = 00:00:00 00:00:00
%S =212[212) 212(212)
Maximum = 0.0 kv 151 ki
Minimurm = 0.0 k¥4 0.0 kWA

Cursor Values
#1 (0d 00:00:53 (2/8/2010 11:52:40 PM)
®2 (0d 00:02:53 (2/8/2010 11:55:40 PM]
dx 0d 00:02:00
Y1 B4 84 B4KGA
Y2 70 70 FOKvA
d¥: 13 1.3 13KVA




VAR:

AR Full Tatal

194 194 134
s S
=4 =
a7 07 BT
000000

POWER FACTOR:

138

0.47

107 +/Diw

PF Total

139 1.39
W w
[ o
0.47 047«
00:00:00

107 s/Div

DISPLACEMENT POWER FACTOR:
N/A

.71 START

SW 1,2 = 81PF

Datablock
MName  =YAR Ful /L1  |VaR FulB/L2
Date  =2/8/2010 2/8/2010
Time  =11:86:18PM  |11:56:18 PM
‘5cale = 601 kWAR/Div| 501 kKWaR/Div
YALEDE = BB kWAR A6 kAR
H¥Scale =107 &/Div 107 5/Div
HAr0% = 00:00:00 00:00:00
X Size  =2120212) 212(212)
Masimurn = 0.0 kKWVAR 0.0 kveR
Minimum = -B9.1 kAR 691 kAR
Mame = WaR Full Total
Date =2/8/200 2/8/2010
Tirne: =11:86:18 PM 11:56:18 PM
¥ Scale = G0 kWARDiv| 50.1 kWAR/Div
YALED% = 56 kWAR BB kKVAR
X Scale =107 s/Div 107 +/Div
HAD%  =00:00:00 00:00:00
HSize  =212[212) 212(212)
Maximum = 0.0 kWAR 0.0 kWaR
Minimum = 0.0 kWAR AT kAR

Cursor Values

A1 Od 00:00:53 (2/8/2010 11:53:40 PM]

®2 0d 00
dx 0d 00:02:02

-65 [2/8/2010 11:55:42 PM)

Y1 108 108 T0EKVAR
Al 700 700 TOKVAR
dy 38 38 3BKVAR

Diatablock

Name  =PF A1 FF B/L2
Date =2/8/2mn 2/8/2010
Tirne: =11:66:18PM | 11:56:18 PM
YScale = 1.86PF/Div| 186PF/Div
¥ ALS0% = 0.46PF 0.46 PF
X5cale =107  s/Div (107 s/Div
AALO0%  =00:00:00 0o:00e00
HSize =212(212) 212[212)
Mzimum = 000 PF 0.00 PF
Minimum = 000 PF 0.00 PF
Name = PF Total
Date  =2/8/2010 2/8/2010
Time  =115618PM [11:5618PM
Y Scale = 1.86PF/Div| 1.86 PF/Div
Y ALE0% = 04EFF 0.46 FF
#Scale =107  s/Div [107  s/Div
X AL0% = 00:00:00 00:00:00
%S =212[212) 72(212)
Maximum = 000 PF 0.84 PF
Minimum = 0.00PF 0.00 PF

Cursor Values

#1 0d 00:00:53 (2/8/2010 11:53:40 PM]
K2 0d 00:02:45 (2/5/2010 11:55:35 FM]

dx 0d 00:01:55

v1: 062 0EB3 OEIPF
Y2 083 083 O084PF

dv: 015 014 0A5PF

SW 3 ONLY .84PF




BEAR POINT MOTOR TESTS
PUMP C
FEBRUARY 2010




TEMPLATE: .84 PLATE PF MAX
MOSQUITO DIKE STATION BEAR POINT MOTOR C

VOLTAGES

361.20 361.20 361.20

Valags A/L1

A2FT = 27T = A27T =

37e74 TRV 7674 .

0.00 ms 8.23 ms/Div

CURRENT

2

Currend A/L1
miz a2 02 ¥ g
28 AR« LE
SRS A - o]
207 207 20 L
0.00 ms 8.24 m3/Div

NEUTRAL: NONE

Dratabloc]

Name  =%oltage /L1 |Voltage B/L2
Date =2/8/2mn 2/8/.2010
Tirne: =10:62:49 P [10:52:49 P
¥ Scale = 36397 V/Div | 36397 Y/ Div
Y ALED% = 1277V 277y
X5cale = B23msDiv) 823 ms/Div
Kar0% = 0.00ms 0.00 me
X Size =294 (300 294 [300]
Mazimum = 169.91Y 0707
inirmum = -170.00 -306.90Y
Mame = altage M
Date  =2/8/2010 2/8/2010
Time  =10.5250PM [10:5250 PM
Y Scale = 3697 V/Div [ 36297 W/Div
Y ALEDY = 1277V AZ77Y
#Scale = B23msDiv| B.23ms/Div
XAr0% = 000ms 0.00 mz
% Se =294 (300) 294 [300]
Maximum = 16318Y 0134
Minimurn = -163.48% 0.00%

Cursor Values
1. 1053ms
®2: 1478ms
dx 426 ms
¥1: 16892V
Y2 1693 Y
dY: -338.23V

Databloc)

Name  =Cumert /L1 [Current BALZ
Date  =2/8/2010 2/8/2010
Time  =10.5359PM [10:54:00 PM
Y5cale = 20639 A/Diw (2063 A/Div
TALEDE = 38 A 38 A
H¥Scale = B24msDiv| 824 ms/Div
XAz = 000 0.00 ms
¥ Size  =234(300) 234 (300)
Masimurm = B39 A EB3 A
Minimum = -E29 A EE2 A
MName = Current M
Date =2/8/200 2/2mo
Tirne: =105400PM  [10:54:01 PM
¥ Scale = 2069 A/Div | 20B9A/Dw
WALEDZ = 38 A 0384
KScale = B.24me/Div| 824 me/Div
Zarl% = 0.00ms 0.00 ms
®Size  =234(300) 294 (300)
Maximum = £23 A 0024
Minimum = -E33 A 008 A

Cursor Values
®1 3.81 ms
K2 8.29ms
dx 4.48 ms
el 539 A
w2 BTE A
dv: 176 A




PHASE OVERLAYS:

" 1225v |° 42 A '2133v|’ 46A

60.00Hz O 00642 A -2x B KD 60.00Hz O 00707 A -2x B KD

02708710 22:54:39 4000 60H=z3H WYE DEFAULT 02708710 22:55:04 4000 60H=z3H WYE DEFAULT
UVOLT AMP  CURSOR F'"H PERSIST HOLD UOLT AMP  CURSOR F, PERSIST HOLD

Y A RENE & Z00M "4 UHY OFF RUH HEAN B e & Z00M n"'H UHY OFF RUH

“122lv ]’ 44 a]

60.00H= d o003 A xR R

02508710 22:55:27 4000 60Hz 38 WYE DEFAULT

UVOLT AMP  CURSOR ""-.H PERSIST HOLD
HnaBC & Z00M "y UH OFF RUH

VECTOR:

“2460v |"2456u |"2449 v

Va funa 1416
Vg fung 1420
Ve funa 1414
Hz 29.99
Upprey 240
Opcy 240
Bcoam 240

02f08710 22:56:50 693V 60Hz 0-LEG DEFAULT

SOLT ARE Y ;scope




HARMONICS:

Harmonics Harmonics

FETHD~=~.-  JFETHD 3.0 %r A THD——-.- A THD 46¥%rfFK 1 |
& 00146 F == & 0:02:05 F ==

B T | 1 B 1 |
Ak [k
[ RO 4 ... RO
L1 I T L T j | ] I DA e BB . pem g s qem g BE e c g g qmqe e g EE
THDDC 1 3 5 s 9 11 13 15 17 THDDC 1 3 5 s 9 11 13 15 17

693U 60Hz 0-LEG DEFAULT 02708510 22:59:28

1-HARM. HOLD
uHY OFF RUH

693V 60Hz 0-LEG DEFAULT

1-HARM. HOLD
TREEESS SON OFF RUN

Harmonics
ATHD 0.0%rffik 1 |

& 0:02:26 P ==
o8

g .. (G2 || R

; BOBHy - 1 o aeone e e an e
THDDC 1 3 5

P

7 9 1113 158 a7
693U G0HzO-LEG  DEFAULT
I-HARM. HOLD

OFF RUH



TRENDS:

Pouwer &Eneray
FULL & 0:00:05 P =<
A B C
kll 145
kUA 18.6
kUAR i 11.7
PF 0.78
DPF
Arms 47 46 44
AB BC CAH
Urms 245.7 2457 pPd44
02/08/10 23:30:46 693U GO0Hz 38 DELTA DEFAULT
ENERGY  TREHD —

UNCORRECTED

Pouer &Eneray
FULL & 0:04:15 P =<
A B C
kil 14.4
kUA 16.5
kUAR i 8.0
PF 0.38
OPF
Arms 37 40 39
AB BC CA
Urms 2458 2463 2446
02708410 23:07:27 693U 60Hz 38 DELTA DEFAULT
EHERGY  TREHD -

KVAR UNIT IN PLACE, UNKNOWN
US 2-4 MARKED FOR 480 .84PF LIMITED

“245.1v |"2453v |"2440v |

UH fund Idl.u
UB fund IdIE
U[; fund IdI.E

Hz 60.00
Bapey 240
Pgcen 240
Bcoa 240

02708710 23:30:01

UOLT [AfP
A B C

693U 60H=z 38 DELTA DEFAULT

i HOLD
: I'-.___.-' SCOPE RUH

VOLTAGES:

25091 25091 25000 T

¥ R &/

24088 24068 24062 &

00:00:00

196 5/Div

Uﬂ fund Idl.g
UB fund IdEI
U[: fund IdI.E

Hz 29.99
Oape 240
Bgcey 40
Ocope 240

02708710 23:29:09

UOLT (AP
A B C

693V 60H=z 38 DELTA DEFAULT

i HOLD
: I'-.___.-' SCOPE BUH

Diatablock
Name =% RAms AL % Fims B/L2

Date  =2/8/2010  |2/8/2010
Time  =11:03:39PM |11:09:39 PM
Y¥5cale = 10.23%/0iv| 10.23V/Div
W ALENE = 245.80Y 24580V
H¥Scale =195 /Div (195 s/Div
HAr0% = 00:00:00 00:00:00

X Siee  =387(387) |387(387)
Masimurn = 247.38 %
Minirmum = 240.00%
Mame =% Hms 013
Date =2/8/2010
Time: =11:09:33 PM
Y Scale = 10.23Y/Div
W ALEN% = 245.80Y
KScale =195 2/Div
A% =00:00:00
®Size  =387(367)
Maximum = 24505
Minirmum = 240,00

24682
240.00%

Cursor Values
#1 0d 00:01:37 [2/8/2010 11:04:50 PM)
®2 0d 00:02:40 [2/2/2010 17:05:53 PM)
dx (0d 00:01:03

Y1 24581 24596 246.00
W2 24604 24622 24635V
dy 013 026 0.35Y




CURRENT

68.6  B8E

183 163 5

00:00:00

WATTS:

& Rms &/

B R TEEEE R EEEEEPERE ]

198 ¢/Div

Y Full Total

B . )

w5 2.8 25
: z E:
qz2 A2z 122 .
00:00:00

VA WATTS:

AR SRR SRR U R Y

1

200 s/Diw

WA Full Total

W2 W2 w2
=€ =€ =
z =z

84 84 84 -

00:00:00

200 s/Diw

Diatablock

Name =& Rms AT |4 Fims B/LZ
Date  =2/8/2010 |2/8/2010
Time  =11:09:33 Ph|11:09:33 PM
‘¥ 5cale = 523A/D0 | 523 AMD0
TALEDE = 4244
H¥Scale =198 &/Div |198 &/Div
HAr0% =00:00:00  |00:00:00
X Siee  =387(387) 387 (367)
Masimun = 4294 B34
Minimurm = 0.0A )
Mame =
Date =2/8/2010
Time =11:09:39 PM
Y 5cale = 52.3A/MD0W
YALEDE = 4244
X Scale =198 s/Div
A% =00:00:00
®Size  =387(367)
Maximum = 44.4 4
Minimum = 00&

Cursor Values
#1 0d 00:01:37 [2/8/2010 11:04:50 PM)
®2 0d 00:04:50 [2/2/2010 17:02:032 PM)

d¥: 55 A5 554

Datablock

MName =% Full&/L1 |\ Ful B/LZ
Date  =2/8/2010 2/8/2010
Time  =11:03:39PM [11:03:39PM
Y S5cale = 407 kwi/Div| 407 Kwi/Div
TALEDE = B kW 871 kw
H¥Scale =200 &Div (200 s/Div
HAr0% = 00:00:00 00:00:00
X Size  =387(387) 387 (387)
Masimurn = 10.5 K/ 5.7k
Minimumn = 0.0 kW 0.0 kit
Mame = W Full Tatal
Date =2/8/2010 28200
Tirne: =11:09:39PM  [11:09:29 PM
¥ Scale = 407 kw/Div| 40.7 kKW/Div
WALEDE = B KW 81k
X Scale =200 ¢/Div  [200 s/Div
A% =00:00:00 00:00:00
®Size  =387(367) 397 (387)
Maximum = 0.0 ki 148 kw
Minimum = 0.0 ki 0.0 ki

Cursor Values
#1 0d 00:01:37 [2/8/2010 11:04:50 PM)
®2 0d 0[2/8/2010 17:02:02 P

Y2143 146 T46KW
d¥: 03 00 00kKwW

Datablock

Name  =4AFull /L1 W& Full B/LZ
Date  =2/8/2010 2/8/2010
Time  =11:09:33PM |11:09:39 PM
W5cale = 446 kWA/Div| 446 kVADiv
TALEDE = 139 kWA 139 kva
H¥Scale =200 &Div  [200 sDiv
HAr0% = 00:00:00 00:00:00
X Size  =387(387) 387 (387
Masimurn = 105 kva 11,7 kva
Minimurn = 0.0 kvé 0.0 kv
Mame = W Full Total
Date =2/8/2010 2/8/2010
Tirne: =1109:39PM  |11:09:39 PM
Y Scale = 44EKVADIv| 446 KVA/Dv
YALEDE = 135 kWA 135 kv
X Scale =200 ¢Div  |200 +Div
A% =00:00:00 00:00:00
®Size  =387(367) 387 (387
Maximum = 0.0 kWA 18.5 kv
Minimum = 0.0 kWA 0.0 ki

Cursor Values
#1 0d 00:01:37 [2/8/2010 11:04:50 PM)
®2 0d 0(2/8/2010 11:08:02 PM)

Y1 186 186 186 kA
Y2 165 165 165k
d¥y: 22 22 2ZKVA




VAR:

160 16.0

WA

240 250

POWER FACTOR:

188 188

PF
PR

051 051

KYAR

160

AR Full Tatal

B R Crr | SO EEEE R RN

Datablock
MName  =YAR Ful /L1  |VaR FulB/L2
Date  =2/8/2010 2/8/2010
Time  =11:0339PM  |11:09:39PM
‘' 5cale = 4561 kWAR/Div| 461 kKvaR/Div
YALEDE = -BEKWAR 6.5 kAR
H¥Scale =193 &/Div 199 5/Div
HAr0% = 00:00:00 00:00:00
¥ Size  =387(387) 387 (367)
Masimurn = 0.8 kKWVAR 7.8 kAR
Minimum = 1.5 kKWAR 691 kAR
Mame = WaR Full Total
Date =2/8/2010 2/8/2010
Tirne: =11:09:39 PM 11:09:29 PM
Y Scale = 461 kWARDiv| 45,1 KWAR/Div
YALED% = B kVAR 6.5 kVaR
X Scale =199 s/Div 199 +/Div
A% =00:00:00 00:00:00
®Size  =387(367) 387 (367)
Maximum = 0.0 kWAR T KVAR
Minimum = 0.0 kWAR AT kAR

Cursor Values
#1 0d 00:01:37 [2/8/2010 11:04:50 PM)

®2 0d 00
dx 0d 00:02:12

;60 [2/8/2010 11:08:02 PM)

DISPLACEMENT POWER FACTOR:

N/A

290 & 1o 118 1.8 I16KVAR
w2 81 8.1 81 KVaR
00:00:00 199 5/Diw dy 38 38 36KWR
FF &/
1.85 Diatablock
Name  =PF A1 FF B/L2
Date =2/8/2mn 2/8/2010
Tirne: =11:03:39PM  |17:03:39 PM
¥ Scale = 236PF/Div| 236PF/Div
¥ ALS0% = 0.E7PF 0.67 PF
X5cale =197 s/Div (197 s/Div
AALD%  =00:00:00 0o:00e00
X Size  =387(387) 387 (387)
Mzimum = 000 PF 0.00 PF
Minimum = 000 PF 0.00 PF
1] Mame = PF Total
w Date  =2/8/2010 2/8/2010
o Time  =11.03:33PM [11:03:39 P
Y Scale = 23EPF/Div| 236 PF/Div
Y ALE0% = 0.E7FF 0.67 FF
#Scale =197 s/MDiv [197  s/Div
X AL0% = 00:00:00 00:00:00
%Size =387 (357) 387 (387)
Masimurn = 000 PF 0.88 PF
Minimurm = 0.0OPF 0.00 PF
Cursor Values
#1 (0d 00:01:37 (2/8/2010 11:04:50 PM)
: ®2 (0d 00:04:50 (2/8/2010 11:08:03 PM)
H dx 0d 00:0313
08+ ' ¥1:0.00 0.00 0.00FF
¥2: 000 0.00 0.00PF
00:00:00 197 s/Div d: 0.00 0.00 0.00PF




BEAR POINT MOTOR TESTS
PUMP E
FEBRUARY 2010




TEMPLATE: .84 PLATE PF MAX
MOSQUITO DIKE STATION BEAR POINT MOTOR E

VOLTAGES UNLOADED

T23EE T3R8

WoltagaA/L1

000 = 0.00 =

72368

72368 S

0.00 ms 8.34 ms/Div

LOADED VOLTAGE:

T23E8 72368

Woltage A/LT

0.00 = 0.00 =

y

-723E8

V2368 5

0.00 ms 2.234 me/Div

CURRENT

Cumsnt 41
21 02 3 t
224 22s
065 1065

0.00 ms 8.28 ms/Div

Datablock
Name  =%aoltage A/L1 Yoltage BAL2
Date =2/3/2mn 2/9/2010
Tirne: =12:26:21 AM 12:26:21 AM
¥ Scale = 722.68V/Diw | 72368V Div
¥ ALE0% = . ooy
X5cale = 8.34 msDiv 8.34 ms/Div
KAl = 0.00 mg me
X Size  =298(300) 292(300)
Maimum = 34544V 3528V
Minimum = -345.87 354 15
MName =
Date  =2/9/2010
Time — =12:25:21 AM
Y Scale = 723.68V/Div
¥ ALEDE =
#Scale = 8.34msDiv
XAk = 0.00 ms
%Sie =298 (300)
Maximum = 342,72
Minimum = -342.85%
Cursor Values
1. 1053ms
%2 1473ms
dx 420ms
Y1 34444V
Y2 -344.96Y
dY: -B89.41Y
Datablock
Mame  =“oltage A/LT Woltage B/L2
Date  =2/9/2010 2/9/2010
Time — =1226:328M  |1226:32AM
Y5cale = 723EBV/Div | 72363V Div
T ALEDE = 00w
HScale = 8.34msDiv 8.34 ms/Div
Harlz = 0.00ms 00 mz
¥ Size  =238(300) 298 (300)
Masimurn = 343.32V 351.05V
Minimurn = -343.58V 350,23V
Mame =
Date =2/3/200
Time =12:26:33 &M
¥ Scale = 723.68V/Div
W ALEDE =
KScale = 8.34 madDiv
HA0% = 0.00ms
® Size  =298(300)
Maximum = 33918V
Minimum = -338.88%
Cursor Values
#1 10,58 ms
K2 1478ms
dx 4.20ms
W1 34283V
W2 -34285Y
dv: EBhT4Y
Datablock
MName  =Cument A1 |Cument B/ALZ
Date =2/3/2mn 2/8/.2010
Tirne: =1227:038M  [12:27:04 AM
¥ Scale = 1043 A/Div | 1043 A/Dw
YALEDR = 22 A 22 4
XScale = B28msDiv) 828 me/Div
Kat0x = 0.00ms 0.00 ms
X Size =296 (300) 296 [300]
Maimum = 54.9 A 537 A
Minimum = -54.4 4 539 A
MName =
Date  =2/9/2010
Time — =12:27.04 AM
Y Scale = 1043 A/Diw
YALEDR = 22 A
#Scale = B8.28ms/Div
XAar0%k = 000
% Se =296 [300)
Masimurn = 54.9 A
Minimum = 57.4 &
Cursor Values
#1 3.86ms
K2 812ms
dx 426 ms
Y1: 544 A
Y2 538 A
d: 1081 A




NEUTRAL: NONE

PHASE OVERLAYS:

“0463u | =470 I]lil

.-’r%'.?#.'?.z ..................... ."_.".4. WM [ -2x FOLF .-’r?.??.ﬂ?— ..................... ."_.".4. @2 [ -2k FOLF
693U 300A : 693U 300A

02/09/10 00:27:46 693V 60Hz 38 DELTA DEFAULT 02/09/10 00:25:06 693V 60Hz 38 DELTA DEFAULT
UVOLT AMP  CURSOR F, PERSIST HOLD VOLT AMP  CURSOR PERSIST HOLD

—F

i A NENE & 001 "y UHN OFF RUH AN B NE & 001 UHN OFF RUH

39.97Hz 0:04:51 A -2x B I

02709710 00:28:33 693U 60H=z 38 DELTA DEFAULT

UOLT AMP  CURSOR PERSIST HOLD
# A B C & Z00M UHN OFF RUH

VECTOR:

| 2446v ] 38 A

Uc fung 141.7
Hz 59.97
Acfuna 38
Baue - 44

02709710 00:29:01 693V 60H=z 38 DELTA DEFAULT
VOLT AHP

A B C




HARMONICS:

Harmonics Harmonics
FETHD 2.0 ¥r ATHD 3.2%rfPK 1 |
(I HITH A F == & 0:00:37 F ==
B 1 | 1 B 1 |
[l [k
& ... ¥ | -2 || 4 ... BRI --
| L e L L j | | [ D pmm pHE L RN g e g g EE g g peeqe e g pum
THODC 1 3 5 T 9 11 13 15 17 THDDC 1 3 5 s 9 11 13 15 17
0270910 D0:29:49 693U 6GOHz 38 DELTA DEFAULT 0270910 00:30:1% 693U 60Hz 38 DELTA DEFAULT
I=HARM. HOLD TABLE I-HARM. HOLD
Ol OFF RUH £ ORY OFF RUNH
Harmonics
ATHD O01%rfRK 1 |
d m01:09 P E=F
ap OB
& ... 0% I_ - - e m

i P f gt

THODC 1 3 5 ¢ 9

P

111315
693U 60Hz 38 DELTA DEFAULT
HARM. HOLD

OFF RUH



TRENDS:

Pouer &Energy

FULL o 0:00:07 P =~
A B C

kU 12.4
kVA 16.7
kUAR ¢ 111
PF 0.74
DPF

Arms 39 41 38

AB BC CA
Urms 2467 2472 2445

0270910 00:31:19 693U 60H=z 38 DELTA DEFAULT

HOLD
EHERGY TREHD RUH

UNCORRECTED

Pouer &Eneray

0270910 00:32:28

US3 SWITCHES AT AMPS

FULL @ 0:01:15
A B

kU
kVA
kVAR
PF
OPF
Arms 33 35 31

AB BC CA
Urms 2468 2473 2445
693U 60Hz 38 DELTA DEFAULT

EHERGY TREHD

P = =F

oo A
L) —

HOLD
RUH

| 2446v ] 38 A

“2470v | 2479 |"2442v

UVOLT AMP
A B C

U C fund I d I .?
Hz 5997
Acfona 38
Baue - 44

02709710 00:29:01 693V 60H=z 38 DELTA DEFAULT

i HOLD
: I'-.___.-' SCOPE BUH

VOLTAGES:

25093 25093 25000

| ¥ Rms &/L1

24113 24113 24113 &

00:00:00 123 5/Div

Vs fund 1413
Vg funa 1434
Ut fung 1418
Hz 29.98
Oape 120
e 121
Oea 119

02709710 00:42:48

UOLT (AP
A B C

'\ scoPE

Diatablock

Name =% RAms AL % Fims B/L2
Date  =2/9/2010  |2/9/2010
Time  =12:38:50AM |12:38:50 AM
¥5cale = 986Y/Div| S.8EV/Div
W ALENE = 24606 24606V
H¥Scale =123 /Div (123 s/Div
HAr0% = 00:00:00 00:00:00

X Size  =240(240)  |240 (240

H

Masimurn = 692,99 E92.99V
Minirmum = 240.00% 240.00%
Mame =% Hms 013

Date =2/3/2010

Time: =12:38:58 AM

YScale = 9.86Y/Div

W ALEN% = 246.06Y

KScale =123 2/Div

X AD%  =00:00:00

HSize  =240(240)

Maximum = 632,93

Minirmum = 240,00

Cursor Values
#1 0d 00:01:60 [2/9/2010 12:36:43 AM)
®2 0d 00:02:69 [2/9/2010 12:37:58 AM)
dx 0d 00:01:09
el 24626 24626 24630V
W2 24666 24660 24660V
dv 0.30 0.35 0.30%

693V 60H=z 38 DELTA DEFAULT

HOLD
RUH




CURRENT

& Rms &/

88 636 ¥ 2 Datablack
H ' Name =& Ams A1 |4 Ams B/L2
Date  =2/9/2010 |2/9/2010
: : Time  =12:35:50 AM|12:38:508 AM
H | Y 5cale = 51.2A/Dw | 61.2A4/D0
H | YALEDE = 3B0A
: : ®Scale =123 s/Div 123 s/Div
: : HAr0% =00:00:00  |00:00:00
H : X Size  =240(240) |240(240
H i Masimum = 3934 204
: : Minimum = 0.04 004
. ! Mame =
Date =2/3/2010
< = Time  =1233:584M
Y Scale = 51.2A/Div
YALED% = 3804
i HScale =122 s/Div
H ; X AD%  =00:00:00
HSize  =240(240)
H : Masimum = 3814
H | Minimum = 004
H 1 Cursar Values
E 3 #1 0d 00:01:00 [2/9/2010 12:35:59 AM)
H | ®2 0d 00:02:69 [2/9/2010 12:37:58 AM)
i ! dx 0d 00:01:59
124124 " ' Y1: 383 385 3374
¥2: 330 334 3384
00:00:00 123 +/Div dv: 63 A1 504
Y Full Total 5
280 280 T Datablock
H MName =% Full&/L1 |\ Ful B/LZ
Date  =2/9/2010 2/9/2010
: Time — =1233:50AM [1233:50AM
H W5cale = 38 Kwi/Div| 38 Kw/Div
H TALEDE = 9.0 kW 90 kw
: H¥Scale =125 oDiv (125 /Div
: HAr0% = 00:00:00 00:00:00
H X Size  =240(240) 240 (240)
H Masimurn = 4.6 K/ 9.2 K
e e ern m“_MwH_m__“_M".%{ Minimumn = 0.0 kW 0.0 kit
MName = W Full Total
S = H Date =2/3/2010 2200
k=) = L H Tirne: =12:38:68AM [12:28:58AM
YScale = 38 kw/Div| 38 KW/Div
' WALEDE = 9.0 kW 90k
) XScale =125 oDiv (125 s/Div
H X AD%  =00:00:00 00:00:00
®Size  =240(240) 240240
v Maximum = 0.0 ki 127 k'
H Minimum = 0.0 ki 0.0 ki
H Cursor Values
E #1 0d 00:01:00 [2/9/2010 12:35:59 AM)
H ®2 0d 00:02:69 [2/9/2010 12:37:58 AM)
i dx (0d 00:01:59
0o 0o RV " Y1121 124 124 kW
Y2121 124 124kwW
00:00:00 125 5/Div dv: 00 00 00kw
Wi Full Total
X2 B2 262 Diatablock
MName  =WAFuWlA/LT  |WA FulB/LZ
Date =2/3/2m0 2/3/2010
Tirne: =1238:68AM |12:38:50 AM
¥ Scale = 37.9KVWADIv| 37.9kVADY
Y ALE0E = TIKVA TIkNA
XScale =126 80w |125 50w
AAL0%  =00:00:00 00:00:00
X Size  =240(240) 240(240]
H Maimum = 9.7 kA 9.4 kWA
E Minimum = 0.0 kWA 0.0 ki
H Mame = WA Full Total
a a < it Date  =2/9/2010 2/9/2010
z = 4 : Time  =1233:58AM 123858 AM
E YWScale = 37.9KWADIv| 379 kVADI
: YALEDE = 7.3 kWA 73 kA
H #Scale =1 s/Div 125 &/Div
H X AL0% = 00:00:00 00:00:00
v % Sie  =240(240) 240 [240)
' Masimum = 00 kia 16.7 ki
H Minimurm = 0.0 Kva 0.0 ki
H Cursor Values
#1 (0d 00:01:00 (2/9/2010 12:35:59 AM)
: ®2 (0d 00:02:59 (2/3/2010 12:37:58 AM)
H dx 0d 00:01:59
RN AT ' Y1: 165 167 167 kvh
Y2: 140 143 146KA
00:00:00 125 s/Diw dv: -24 24 22KWA

VAR:




16.4

WA

345

POWER FACTOR

16.4

345

1B2  1E2

PF

PF

030 030

16.4

—

AR Full Tatal

[
KWaR

345 &

00:00:00

1.62

126 5/Diw

PF Total

030 <

00:00:00

124 s/Div

DISPLACEMENT POWER FACTOR:

N/A

Datablock
MName  =YAR Ful /L1  |VaR FulB/L2
Date  =2/9/2010 2/9/2010
Time — =1238:50AM  |12308:50AM
‘¥ 5cale = B0.3kWAR/Div| 509 kvaR/Div
YALEDZE = 81 kWAR -1 kvaR
H¥Scale =125 &/Div 125 +/Div
HAr0% = 00:00:00 00:00:00
X Size  =240(240) 240(240)
Masimurn = 0.0 kKWVAR 0.0 kveR
Minimum = -B9.1 kAR 691 kAR
MName = VAR Full Total
Date =2/3/2010 2/9/2010
Tirne: =12:38:58 AM 12:32:58 AM
¥ Scale = G0.9kVWARDiv| 50.9 kWAR/Div
YALED%Z = 81 kWAR -1 kAR
X Scale =125 s/Div 125 +/Div
X AD%  =00:00:00 00:00:00
HSize  =240(240) 240 (240)
Maximum = 0.0 kWAR 0.0 kWaR
Minimum = 0.0 kWAR AT kAR

Cursor Values
#1 0d 00:01:00 [2/9/2010 12:35:59 AM)

®2 0d 00
dx 0d 00:01:59

269 [2/9/2010 12:37:58 &)

Y11 11 A1 kAR
w2 73 73 TOKMAR
dv a8 38 4 0EVAR
Diatablock
Name  =PF A1 FF B/L2
Date =2/3/2m0 2/9/2010
Tirne: =1238:68AM |12:38:68 AM
YScale = 1.92PF/Div| 192PF/Div
¥ ALS0% = 0.EGPF 0.66 PF
X5cale =124  s/Div (124 s/Div
AAL0%  =00:00:00 0o:00e00
X Size  =240(240) 240 [240)
Mzimum = 000 PF 0.00 PF
Minimum = 000 PF 0.00 PF
Name = PF Total
Date  =2/9/2010 2/9/2010
Time — =1233534M [12:38:58AM
Y Scale = 1.92PF/Div| 1.92PF/Div
Y ALE0% = OEEFF 0.66 PF
#Scale =124  s/Div 124  sDiv
X AL0% = 00:00:00 00:00:00
% Sie  =240(240) 240 (2400)
Maximum = 000 PF 0.87 PF
Minimum = 0.00PF 0.00 PF
Cursor Values

#1 0d 00:01:00 (2/9/2010 12:35:53 AM]
K2 0d 00:02:53 (2/3/2010 12:37:58 AM]
]

dx Od 00:01:5

v1: 074 075 O75PF
Y2 086 086 O87PF
dv: 012 011 012PF




